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(C) BEN=L B AA100kN/m LT DR BDFHEEND N DB AIEKRN/n) (G) HHEBAIMUT DR O HIED A O RATERN/M) ENBRGSE LSRR ERBBAICRAS
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(A) (B) (©) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (@) (H)
(1) 165.8 1.0 99.9 1.0 21.2 45 15.1 3.0 165.8 1.0 98.9 1.0 22.7 45 14.9 3.0
(2) 165.3 1.0 99.9 1.0 211 4.2 15.2 3.0 165.3 1.0 96.8 1.0 211 42 14.2 2.8
( 3) 165.0 1.0 99.7 1.0 209 41 15.2 3.0 165.0 1.0 96.8 1.0 20.9 41 141 2.8
( 4) 163.2 1.0 99.7 1.0 21.2 47 15.2 3.0 163.2 1.0 97.8 1.0 23.5 47 141 2.8
( 5) 167.8 1.0 99.0 1.0 21.2 4.7 15.1 3.0 167.8 1.0 97.8 1.0 23.5 4.7 14.7 2.9
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